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Calculus |
Area of Polar Functions
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‘ For each sketch the area of the region and then find the area.

1. Find the area of the region bounded
by r=4+3cosé@ on the interval (0,27).
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2. Find the area of the region bounded

by »=4+3cosé on the interval (5,3—”). by »=4+3cosé on the interval (—f,f}.
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5. Find the area of one petal of 6. Find the area of one petal of
- re=5c:os(29)- Bt r=5sin(20).
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1. The graphs of the
polar curves r=3
and r =3+2sin(20)
are shown in the
figure to the right
for 0<0<r. Let
R be the shaded region that is inside
the graph of =3 and inside the graph
of r=3+2sin(20). Find the area of R.
6 =54 QSm(ZQ)
D= 28in(z0) __Intersect
Sin(20)=0 0674 |

™ .
iZ"STf/L( Bt 29(’1(2@)} 7’_}, }Iﬂ«‘(%)ﬁ

L

y

L[5.0W] + 1]

2.3 + 7.068 =/475]

'2. The graphs of the

polar curves r=3
and ;- =3+2cos(0) are
shown in the figure
to the right. Let R
be the region that is
inside the graph of =3 and also inside
the graph of r=3+2cos(d), as shaded in
the figure. Find the area of R.
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3. Thegraphsof , .
polar curves =2
and p=3+2cos(0)

are shown in the

figure to the righi
Let R be the regio B
that is inside the graph of r=2 and
also inside the graph of »=3+2cos(),

as shaded in the figure. Find the area
of R. 225+ 720086
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4. The graphs of

polar curves r =2
and r :L%Sin(ﬁ)

are shown in the

figure to the right.
Let R be the region
that is inside the graph of r=2 and

also inside the graph of r:3—%sin(¢9), as

shaded in the figure. Find the area
of R. 71=17- %Sm@
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